Chapter P

Section P1  Real Numbers 1

Prerequisites

M Section P.1 Real Numbers

Quick Review P.1
L. {1,2,3,4,5,6)

2 {—2,—1,0,1,2 3 4,5, 6)
{321

4. 1,2 3,4}

5. (a) 118775 by =472
6. (1) 20065 by 0.10
T2y — 2=+ 1 =-3 (15 — 2(1.5) + 1 = 1375
(=37 (=) + 2P =7

9. 0,1,2,3,4,5,6

0. 0,1,2,3,4,56,7,89,10,11,12

Section P.1 Exercises
L. —4.625 (lerminating)
2. 0.5 (repeating)
3. —2.16 (repeating)
4. 0135 {repealing
IR
5-4-3-2-1 0 1 2 3 4 5
all real numbers less than or equal (o2 (Lo the lell of and
including 2)
6 ———f ‘-
4-3-2-1 0 1 2 3 4 5 &
all real numbers between —2 and 5, including —2 and
excluding 5

21 01 2345678
all real numbers less than 7 (Lo the left of 7)

£ f
—— —
5-4-3-2-1 0 1 2 45

all real numbers between <3 and 3, including both =3 and 3

1
1
3

9. 4 ——t
S5-4-3-2-1 0 1 2 3 4 §

all real numbers less than O (Lo the left of ()
W 4 +

101 2345878 9
all real numbers between 2 and 6, including both 2 and 6
11. =1 = x < 1;all numbers between —1 and 1 including —1
and excluding 1
12 —oo < x = 4, 0r x = 4 all numbers less than or equal
lod
13 —oo <0 x <2 5,01 x < 5 all numbers less then 5
14. =2 = x < 2; all numbers between —2 and 2, including
—2 and excluding 2

15. —1 < x << Z; all numbers belween —1 and 2, excluding
bolh —1 and 2

16. 5 = x < oo, 0r x = 5] all numbers greater than or equal
o5

17. {—3, oa); all numbers greater than —3

18. (—7, —2); all numbers beltween —7 and —2, excluding both
—7 and —2

19. (=2, 1); all numbers between =2 and 1, excluding both =2
and 1

20. [—1, o0); all numbers greater than or egual 1o —1

21. (—3, 4]; all numbers between —3 and 4, excluding —3 and
including 4

22, (0, oa); all numbers greater than O

23. 'Ihe real numbers grealer than 4 and less than or egual o %

24. The real numbers greater than or equal to =1, or the real
numbers which are at least —1.

25. The real numbers greater than or equal to —3, or the real
numbers which are at least —3.

26. “Ihe real numbers between —5 and 7, or the real numbers
greater than —5 and less than 7.

27. The real numbers greater than —1.

8. Ihe real numbers belween —3 and 0 (inclusive), or
greater than or cqual to —3 and less than or equal Lo O,

29, —3 < x = 4; endpoints —3 and 4; bounded; half-open

M. —3 < x < —1; endpoinis —3 and —1; bounded; open

3. x < 5 endpoint 5; unbounded; open

32 x = —6; endpoint —6; unbounded; closed

33. His age must be greater than or equal to 2% x = 29 or
[2%, o) x = Bill's age

3. The costs are between (0 and 2 (inclusive): ) = x = Zor
[0,2]; x = cost of an item

35. The prices are between $1.099 and $1.399 (inclusive):
1.0W = x = 1.399 or [1.099, 1.399], x = § per gallon of
gasoline

36, The raises are between 002 and 00065 0,02 < x <2 0065
or (002, 0.065); r = average percent of all salary raises

Foal b by =a-2* +a-b=ax’ | ab

B(y—Dpe=ye—e=w— %

3 oad +ded =a- 2+ dot = (a4 d)d

.+ dw=a7+aw=a(z+ w)

4L The opposite of 6 — @, or —(6 — o) = —6 + 7

=a — b

4L The opposite of <7, 0r —=(=T7} =7

43, In—5", the base is 5.

44 In {—2)", the base is —2.



